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1. India is has acquired S-400 from Russia. Consider the following statement in this regard:

1. S-400 Air Defence Missile System can destroy incoming hostile aircraft, missiles and even drones at
ranges of up to 400 km.

2. It is advanced long-range missile defence system which is employed in air which is acquired from USA
Which of the statement given above is/are correct:

(@) 1 Only (b) 2 Only (c) Both1land2 (d) Neither 1 nor 2

2. Economic and Social Planning is a subject on which
(a) only the Parliament can make law

(b) only State Legislatures can make law
(c) Both the Parliament and State Legislatures can make law
(d) the Parliament; can make law with the consent of State Legislatures through resolutions

3. “Though the wise should hope, by this virtue ... by this penance I will gain karma ... and the fool
should by the same means hope to gradually rid himself of his karma, neither of them can do it.
Pleasure and pain, measured out as it were, cannot be altered in the course of samsara
(transmigration). It can neither be lessened or increased ... just as a ball of string will when thrown
unwind to its full length, so fool and wise alike will take their course and make an end of sorrow.
“These were the teaching of:

(a) Mahavira (b) Parshvnath (c) Buddha (d) NanakDev

4. Which among the following is/are the characteristics of a representative democracy?
1. Use of recall
2. The executive is responsible to the legislature for all its policies and actions.
3. Rule of law
4. Universal adult franchise
Select the correct answer using the code given below.
(@ 1and 2 only (b) 1, 2 and 3 only (c) 2,3and 4 only (d) 2 and 4 only

5. Recently, archaeological studies at which one among the following revealed that by 1200 BCE there
was a flourishing agrarian civilization and the cultivation of rice was well-established at this place?

(a) Raichur Doab (b) Krishna Delta
(c) Vicinity of Vamsadhara river (d) Vicinity of Thamirabarani river

6. The Mughal Empire — its king was the king of “beggars and barbarians”; its cities and towns were
ruined and contaminated with “ill air”; and its fields, “overspread with bushes” and full of
“pestilential marishes”. And, all this was because of one reason: crown ownership of land. This
statement was made by whom?

(a) Abdur Razzak (b) Karl Marx (c) Bernier (d) Abu’l Fazl

7. Consider the following statements:

1. All the places on a given meridian of longitude have the same local time.

2. As the earth rotates from east to west, those places east of Greenwich will be ahead of Greenwich time
and those to the west will be behind it

Which of the statements given above is/are correct?

(@) 1 only (b) 2 only (c) Both1and 2 (d) Neither 1 nor 2
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8. Consider the following pairs:

Wildlife State
1. Wild Ass Rajasthan
2.Elephant Assam
3. Gir Lion Maharashtra
Which of above pair(s) is/are correctly matched:
(@) 1and 3 only (b) 2 only (c) 1 only (d) 1 and 2 only

9. Which of the following statements concerning Mediterranean climatic region are correct?
1. Itis found in the latitude range 30° to 45° northern and southern hemisphere

2. Mediterranean climate experiences extreme temperature conditions

3. In Mediterranean climate, rainfall occurs mainly during summer season

4. In Mediterranean climate, rainfall is mainly due to Westerlies

Select the correct answer using the code given below:

@1, 2and 4 (b) 1 and 4 only (©)1,2and 3 (d)3and 4

10. Which of the following statements in the context of northern hemisphere is/are correct?

1. Vernal equinox occurs on March 21.

2. Summer solstice occurs on December 22.

3. Autumnal equinox occurs on September 23.

4. Winter solstice occurs on June 21.

Select the correct answer using the code given below:

(@) 1 only (b) 1 and 3 only (c) 2and 4 only (d) 1, 2 and 3 only

11. Which of the following is true about Zero budget Natural farming?

1. It is chemical loaded and non organic farming

2. A self sustainable practice with minimum external intervention

Which of the statements given above is/are correct?

(@) 1 only (b) 2 only (c) Both1and 2 (d) Neither 1 nor 2

12. which of the following statement is false about induced pluripotent stem” (I1PS) cells:

(@) They are embryonic stem cell

(b) They are reprogrammed to Pluripotent state that enables the development of an unlimited source of any
type of human cell

(c) IPSC are derived from skin or blood cells

(d) All of the statements are true

13. A crop which requires a warm and humid climate. Which can be grown from sea level to 1500mm
above MSL within a temperature range of 20-30°C with a rainfall of 1500 mm or more per annum or
under irrigated conditions? Rich loamy soils having natural drainage and irrigation facilities are the
best for this crop. This crop cannot stand water stagnation or alkalinity. The crop is:

(a) Rice (b) Wheat (c) Turmeric (d) Cotton

14. The monetary policy in India uses which of the following tools?

1. Bank rate 2. Open market operations 3. Public debt 4. Public revenue
Select the correct answer using the code given below.
(@) 1and 2 only (b) 2 and 3 only (c) 1and 4 only () 1,2,3and 4
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15. Consider the following statements about Unified Payments Interface (UPI).

1. It converts multiple bank accounts into a single mobile application of any participating bank, merging
several banking features, seamless fund routing & merchant payments into one hood.

2. It may also be used for Utility Bill Payments, Over the Counter Payments and Barcode based payments.

Select the correct statement using the code given below

(@ 1lonly (b) 2 only (c) Both1and 2 (d) Neither 1 nor 2

16. In India, mergers and acquisition of firms are regulated by
(a) National Manufacturing competitiveness Council

(b) Competition Commission of India

(c) Security and Exchange Board of India

(d) Department of Industrial Policy and Promotion

17. Which one among the following is an appropriate description of deflation?
(@) It is a sudden fall in the value of a currency against other currencies

(b) It is a persistent recession in the economy

(c) Itis a persistent fall in the general price level of goods and services

(d) It is fall in the rate of inflation over a period of time

18. Which of the following correctly explains the stability for a biological community?

1. It must be either resistant or resilient to occasional disturbances

2. It must be resistant to invasions by alien species

Select the correct answer using the code given below.

(@) 1 only (b) 2 only (c) both 1 and 2 (d) Neither 1 nor 2

19. Identify the correctly matched pair:
1. Subsonic cruise missile: flies at a speed lesser than that of sound.
2. Hypersonic cruise missile: travels at a speed of less than around 5 Mach.
Select the correct answer using the code given below
(@ Llonly (b) 2 only (c) Both1and 2 (d) Neither 1 nor 2

20. Which of the following statements is/are not indicative of the difference between Fundamental
Rights and Directive Principles?

1. Directive Principles are aimed at promoting social welfare, while Fundamental Rights are for protecting
individuals from State encroachment.

2. Fundamental Rights are limitations on State action, while Directive Principles are positive instructions for
the Government to work towards a just socio-economic order.

3. Fundamental Rights were included in the original Constitution, but Directive Principles were added by the
first Amendment.

4. Fundamental Rights are amendable, but Directive Principles cannot be amended.

Select the correct answer using the code given below:
(@ land?2 (b) 2and 3 (c)3and 4 (d)1,2and 3
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21. The Buddha delivered his first sermon, known as Turing of the wheel of law’ at
(a) Sanchi (b) Sarnath (c) Sravasti (d) Bodh Gaya

22. Which of the following may help in controlling depreciation of rupee?

1. Decreasing interest rate by RBI.

2. Using Forex reserve by RBI in exchange market.

3. Providing incentives to exporters.

4. RBI raising funds through foreign currency non-repatriable (FCNR) deposits.

Select the correct answer using the code given below:

(@1land?2 (b)1,2and 3 (c)2,3and 4 (d)1,2,3and 4

23. Which of the following activities can be classified as primary activities?

1. Hunting 2. Mining and quarrying 3. Agriculture
Select the correct answer using the codes given below:
(@) 2 only (b) 1 and 2 only (c) 3only (d1,2and 3

24. Consider the following countries:

1.Maldive 2.Thailand 3. Afghanistan

4.Bhutan 5.Nepal 6.Sri lanka

Which of the above countries are members of South Asian Association for Regional Cooperation (SAARC)?
(@) 1, 2and 4 only (b) 1, 3,4 ,5and 6 only (c)3,4,5and 6 only (d) All of the above

25. Consider the following statements in the context of extra-tropical cyclones in the northern hemisphere:
1. They move from east to west.

2. They can originate over both land and sea.

3. India receives most of rainfall from these

Which of the statements given above is/are correct?

(@) 1and 2 only (b) 2 only (c) 2and 3 only (d)1,2and 3

26. Consider the following statements with respect to the Blood Cells:

1. Blood clots after an injury are formed due to the presence of White Blood Cells.

2. Platelets are responsible for fighting against germs in our body.

Which of the statements given above is/are correct?

(@) 1 only (b) 2 only (c) Both 1and 2 (d) Neither 1 nor 2

27. What is meant by Social Equality?

(a) Each person should perform the functions according to his status

(b) No effort should be made to modify the existing social system

(c) No person should be made to suffer a position of relative inferiority in relation to other men due to caste, race
or religion

(d) Special effort to improve the lot of weaker section

28. Which of the following is/are advantage(s) of mMRNA vaccines?

1.Non infectious

2.Generate reliable immune response

Which of the statements given above is/are correct?

(@) 1only (b) 2 only (c) Both1and 2 (d) Neither 1 nor 2
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29. Amnesty International is

(a) an agency of the United Nations to help refugees of civil wars

(b) a global Human Rights Movement

(c) a non-governmental voluntary organization to help very poor people

(d) an inter-governmental agency to caterto medical emergencies in war ravaged regions

30. Westerlies in southern hemisphere are stronger and persistent than in northern hemisphere.
Why?

1. Southern hemisphere has less landmass as compared to northern hemisphere.

2. Coriolis force is higher in southern hemisphere as compared to northern hemisphere.

Which of the statements given above is/are correct?

(@) 1 only (b) 2 only (c) Both 1 and 2. (d) Neither 1 nor 2

31. Consider the following statements about national calendar of India:

1. The national calendar based on the Saka era with Chaitra as its first month.

2. Dates of the national calendar have a permanent correspondence with dates of the Gregorian calendar.
Which of the statements given above is/are correct?

(@) 1 only (b) 2 only (c) Both1and 2 (d) Neither 1 nor 2

32. Consider the following statements regarding the transport in plants:

1. Phloem transports water in the plants.

2. Xylem transports photosynthetic products.

3. Minerals in plants are transported by both Xylem and Phloem in both vertical and horizontal directions.
Which of the following statements is/are incorrect?

(@ 1and2only (b) 1 and 3 only (¢)1,2and 3 (d) None

33. Consider the following statements:

1. E-Rupi is the digital form of fiat currency that can be transacted using wallets based on blockchain
technology and in the Indian context, it will be regulated by the RBI

2. In India Crypto currencies are taxable and in budget 2022-23 TDS of 1% has been introduced to track
transactions in crypto assets.

Which of the statements given above is /are correct?
(@) 1 only (b) 2 only (c) Bothl and 2 (d) Neither 1 nor 2

34. Which of the following are the functions of civil services in a developing society?

I. Deciding policies 2. Drafting legislative bills 3. Pre-audit

4. Framing departmental legislation 5. Administration adjudication

Select the correct answer using the codes given below:

Codes:

@1,34and5 (b) Land 2 (©)2,3,4and5 (d)1,2,3,4and 5
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35. The Sundarbans is a coastal area of India and Bangladesh that contains the world’s largest
mangrove forest ecosystem. The dominant mangrove tree in the Sunderbans, Heritiera fomes,
grows in the salty coastal water, sending aerial roots up above the water’s surface to help get oxygen.
The roots of the mangrove trees provide food and habitat for many species of invertebrates and fish,
which provide a food source for various snakes and birds. These animals, in turn, are eaten by the
Sundarban’s top predator, the Bengal tiger.

Which of the following best describes H. fomes in the Sundarbans mangrove forest ecosystem?
(a) H. fomes is an autotroph, because it uses chemical energy from inorganic salts to produce its own food.
(b) H. fomes is a heterotroph, because it provides food for various species of invertebrates and fish.
(c) H. fomes is a heterotroph, because it harnesses energy from dead organisms decomposing near its roots.
(d) H. fomes is an autotroph, because it uses photosynthesis to produce sugar molecules that it can use as food.

36. Which one of the following statements about immunisation is correct?

(@) In immunisation, infectious agent is killed directly by component of vaccine

(b) In immunisation, infectious agent is killed through immune system

(c) Immunisation has no role in preventing infectious diseases

(d) Immunisation against one infectious disease is sufficient for all infectious diseases

37. Consider the following pairs

City country/Region
1.Chengdu Myanmar
2.Kherson Ukraine
3.Glasgo Scotland
Which of the above pair(s) is/are correctly matched?
@1,2and 3 (b) 2 only (c) 2and 3 only (d) 1 and 3 only

38. Which one of the following does NOT illustrate the importance of the Coral Reef ?
() They provide employment to the people (b) They supply building materials
(c) They protect shoreline from storms (d) They protect communities from earthquakes

39. Which one among the following statements about globalization is not correct?
(a) Advocates of globalization argue that it will result in greater economic growth.

(b) Critics of globalization argue that it will result in greater economic disparity

(c) Advocates of globalization argue that it will result in cultural homogenization

(d) Critics of globalization argue that it will result in cultural homogenization.

40. Whether India is experiencing inclusive growth in the true sense can be assessed by looking at

1. the economic growth indicators of the different States of India

2. whether different social groups like the SC’s STs and Minorities are getting excluded from the
development process

3. whether the government’s various flagship programmes are reaching the society excluded

4. State-by-State human development profile

Select the correct answer using the code given below.

(@) 1 only (b) 2,3and 4 (c) 2and 4 only (d)1,3and 4
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Directions for the following 9 (Nine) items :
Read each of the following to passages and answer the items that follow Your answers to these items should
be based on the passages only.

Passage - 1

Chemical pesticides lose their role in sustainable agriculture if the pests evolve resistance.
The revolution of pesticide resistance is simply riatural selection in action. It is almost certain to occur when
vast numbers of a genetically variable population are killed. One or a few individuals may be unusually
resistant (perhaps because they possess an enzyme that can detoxify the pesticide). If the pesticide is applied
repeatedly, each successive generation of the pest will contain a larger proportion of resistant individuals.
Pests typically have a high intrinsic rate of reproduction, and so a few individuals in one generation may give
rise to hundreds or thousands in the next, and resistance spreads very rapidly in a population.

This problem was often ignored in the past, even though the first case of DDT
(dichlorodiphenyltrichloroethane) resistance was reported as early as 1946. There is exponential increase in
the numbers of invertebrates that have evolved resistance and in the number of pesticides against which
resistance has evolved. Resistance has been recorded in every family of arthropod pests (including dipterans
such as mosquitoes and house flies, as well as bectles, moths, wasps, fleas, lice and mites) as well as in weeds
and plant pathogens. Take the Alabama leafworn, a moth pest of cotton, as an example. It has developed
resistance in one or more regions of the world to aldriri, DDT, dioldrin, endrin, lindane and toxaphene.

If chemical pesticides hrought nothing but problems, - if their use was intrinsically and acutely
unsustainable then they would alrcady have fallen out of widespread usc. This has not happened. Instead,
their rate of production has increased rapidly: The ratio of cust to benefit for the individual agricultaral
producer has remained in favour of pesticide use. In the USA, insecticides have been estimated to benefit the
agricultural products to the tline of around $5 for every $i spent.

Moreover, in many poorer countries, the prospect of imminent mass starvation, or of an
epidemic disease, are so frightening that the social and health costs of using pesticides have to be ignored. In
general, the use of pesticides is justificd by objective measures such as *lives zaved', economic efficiency of
food production and total food producedy In these very fundamental senses, thoir use may ho described as
sustainable. In practice, sustainability depends on continually developing new pesticides that keep at least
one step ahead of the pests. - pesticides that are less persistent, biodegradable and more accurately targeted
at the pests.

41. ""The evolution of pesticide resistance is natural selection in action.” What does it actually imply?
(@) Itis very natural for many organisms to have pesticide résistance.

(b) Pesticide resistance among organisms is a universal phenomenon.

(c) Some individuals in any given population show resistance after the application of pesticides.

(d) None of the statements (a), (b) and (c) given above is correct.

2. With reference to the passage, consider the following statements :

Use of chemical pesticides has become imperative in all the poor countries of the world.

Chemical posticides should not have any role in sustainable agriculture.

One pest can develop resistance to many pesticides.

Which of the statements given above are correct?

(@ 1and 2 only (b) 3only (c) 1 and 3 only (d)1,2and 3

e

43. Though the problems associated with the use of chemical pesticides is known for a long time, their
widespread use has not waned. Why?

(a) Alternatives 'to chemical pesticides do not exist at all.

(b) New pesticides are not invented at all.

(c) Pesticides are biodegradable.

(d) None of the statorcents (a), (b) and (c) given above is correct.
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44. How do pesticides act as agents for the selection of resistant individuals in any pest population ?
1. Itis possible that in pest population the individuals will behave differently due to their genetic makeup.
2. Pests do possess the ability to detoxify the pesticides.

3. Evolution of pesticide resistance is equally distributed in pest population.

Which of the statements given above is/are correct ?

(@) 1 only (b) 1 and 2 only (c) 3only (d)1,2and 3

45. Why is the use of chemical pesticides generally justified by giving the examples of poor and
developing countries ?
1. Developed countries can afford to do away with use of pesticides by adapting to organic farming, but it is
imperative for poor and developing countries to use chemical pesticides.
2. In poor and developing countries, the pesticide addresses the problem of epidemic discuses of crops and
eases the food problem.
3. The social and health costs of pesticide use are generally ignored in poor and developing countries.
Which of the statements over above is/are correct?
(@) 1 only (b) 1 and 2 only (c) 2 only () 1,2and 3

46. What does the passage imply?

(a) Alternative options to chemical posticides should be promoted,

(b) Too much use of chemicals is not good for the ecosystem.

(c) There is no scapo for the improvement of pesticides and making their use sustainable
(d) Both the statements (a) and (b) above arc correct.

Passage - 2

Most champions of democracy have been rather reticent in suggesting that democracy would itself
promote development and enhancement of social welfare — they have tended to see them as good but
distinctly separate and largely independent goals. The detractors of democracy, on the other hand, seemed to
have been quite willing to express their diagnosis of what they see as serious tensions between democracy
and development. The theorists of the practical split - "Make up your mind : do you want democracy, or
instead, do you want development ? - often came, at least to start with, from East Asian countries, and their
voice grew in influence as several of these countries were immensely successful — through the 1970s and
1980s and even later — in promoting economic growth without pursuing democracy.

To deal with these issues we have to pay particular attention to both the content of what can be called
development and to the interpretation of democracy (in particular to the respective roles of voting and of
public reasoning). The assessment: of developnient cannot be divorced from the lives that people can lead
and the real freedom that they enjoy Development can scarcely be seen merely in terms of enhancement of
inanimate objocts of convenience, such as a rise in the GNP (or in personal incomes), or industrialization
important as they may be as means to. The real ends. Their value must depend on what they do to the lives
and freedom of the people involved, which must be central to the idea of development.

If development is understood in a broader way, with a focus on human lives, then it becomes
immediately clear that the relation between development and democracy has to be seen partly in terms of
their constitutive connection, rather than only through their external links. Even though the question has often
been asked whether political freedom is "conducive to development”, we must not miss the crucial
recognition that political liberties and democratic rights are among the "constituent components of
development. Their relevance for development does not have to be established indirectly through their
contribution to the growth of GNP.

47. What does a "*constitutive connection between democracy and development imply?
(a) The relation between then has to be seen through external links.

(b) Political and civil rights only can load to economic development.

(c) Political libertios and democratic rights are essential elements of development.

(d) None of the statements (a), (b) and (c) given above is correct in this context.
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48. According to the passage, why is a serious tension perceived between democracy and development
by the detractors of democracy?

(a) Democracy and develapment are distinct and separate goals.

(b) Economic growth can be promoted successfully without pursuing a democratic system of governance.

(c) Non-democratic regimes deliver economic growth faster and far more Successfully than democratic ones.

(d) All the statements (a), (b) and (c) given above are correct in this context.

49. According to the passage, what should be the ultimate assessment/aim/view of developmeat ?
(a) Rise in the per capita income and industrial growth rates.
(b) Improvement in the Human Development Index and GNP
(c) Rise in the savings and consumption trends.
(d) Extent of real freedom that citizens enjoy.

50. Consider the following statements
1. All artists are whimsical. 2. Somc artists are drug addicts.
3. Frustrated people are prone to become drug addicts.

From the above thrce statements it may be concluded that
(a) Avrtists are frustrated. (b) Some drug addicts are whimsical,
(c) All frustrated people are drug addicts. (d) Whimsical people are generally frustrated.

51. Examine the following statements :

1. I watch TV only if I am bored.

2. 1 am never bored when I have my brother's company.

3. Whenever | go to the theatre | take my brother along.

Which one of the following conclusions is valid in the context of the above statements ?

(@) If I am bored, I watch TV. (b) If I am bored, | seek my brother's company.
(c) If I am not with my brother, then I watch TV~ (d) If I am not bored, | do not watch TV.

52. Only six roads A, B, C, P, Q and R connect'a military camp to the rest of the country. Only one
out of A, P and R is open at any one time. If Bis closed, so is Q. Only one of A and B. is open during
stormis. P is closed during floods. In this context, which one of the following statements is correct?

(a) Under normal conditions only three roads are open. (b) During storms at least one road is open.

(c) During floods only three roads are open. (d) During calamitics all roads are closed.

53. Examine the following statements :

1. None but students are members of the club.

2. Some members of the club are married persons.

3. All married persons are invited for dance

Which one of the following conclusions can be drawn from the above statementy?

(a) All students are invited for dance. (b) All married students of the clubare invited for dance.
(c) All members of the club are married persons.  (d) None of the above conclusions can be drawn

54. Four political parties W, X, Y and Z decided to set up a joint candidate for the coming
parliamentary elections. The formula agreed by them was the acceptance of a candidate by most
of the parties. Four aspiring Candidates, A, B, C and D approached the parties for their tickets.

A was acceptable to w but not to Z. B was acceptable to Y but not to X.

C was acceptable tow and Y. D was acceptable to w and X.

When candidate B was preferred by w and Z, candidate C was preferred by X and Z, and candidate

A was acceptable to X but not to Y, who got the ticket?
(@) A (b) B (cC (d)D
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48. UG & AR, Adad & fHed diwdd 9 e & 7w 7 v ™R T g qusa € 2

(a) b= d fAHTIT T 3R gy T & |

(b) 3N 3ifrgfg I, M DT AbcAIg TUMel BT STERUT fbT R +ff Thetargdes Ioid fam o Jeparl 3

(c) IR-AIH IS A yonferdr i g &, MevaiAe M-Jonferdl &1 ga- 3, e dg 1 4
JUT 3R T eaTgde U el g

(d) SR T T TR (a), (b) T (c) FUT ST ASH A TEI € |

49, IS¢ & IER, fawr &1 sy qeaiw-/aga/e® & g r a1y 2
(a)uﬁwﬁmamﬂq@aﬁﬁq@

(b) AT fADHTH Yahics U1 GNP & JUR |

(c) Sradl a IUHIT ughrdl & g |

(d) 3 IRAfdP Tc=rar & fAR forgept MRS IUHNT AR B |

50. frafafed Syl W faar Fif:
1. 91 HATPR GI1 B1a &
2. FT HATHR A Terdf b TqN e § |
3. PoTIRd Al P TR Terd T T | §9 T B! FHTaT I8 B
wﬁﬁr@a?ﬂﬂ$u=ﬁﬁugﬁwcfﬁwmmmé%

(a) PATHR HORRA 8Id & | (b) TR Terif & T ATl o § @ @ gld | |
(c) T FrorrRa wfdadl &I TN UGIdf ST BT 8| (d) Th! Afad 3MH IR R HoRRd ald & |

51. frafafed sy o1 kg Five:

1. 7 a4t qRa2H SEdI § 9 ST g g g |

2. H afe 3 UIS & AU BT § ol i gl Sl |

3. T g H e SITaT § oY 31U 1T 1 1Y & ST § |

SW & HYAl & e A Fafafea § 4 o9-an Fred da g 2 _ .
(2) T H ST 3N BN B, ol GXaRM a@T g | ~ (b) I H SIS BIATE, Tl (U HTS BT Y <8l B |
(c) T F 307 Y S I TS BIT §, i R S/dIg|  (d) Tf H SHoaT g3 TSt Bl &, dl SRe=i et x|

52. A B: 98P AB,C,P, Q Td R frelt uer 9=a AR &1 3 & Aw U1 A wiis<dt @ | fhdt ot vop wom
W A, P T4 R TSP H A bael T ISH & GA @A 219 B e a1 &, A 0 MW@ e 21 Qv &
WAm%ﬁ%ﬁngﬁwaﬁ%lm%wwzweﬁ% | gg de |, Fafafaa & a s
TP HUT

(a) I IRFRUTITT & Had IF T8 Gat |1 &1 (b) THH & THI HH-U-HH Uh TSb goil W6l ¢

() §T¢ & THT Had A T3 Gail Xga ol (d) 3muersfi & gy IR} gs& & TEal ol

53. frafefad sy w faar #ifsme.

1. BT & 3ITaT GO DS Fad T Y Tl g

2. 3099 & $O I faaied B

3. quft faanfed g & fo Fifa B

ST HYAI & YR R Fafefaa d§ & s9-u1 ve sy fArerar o wwar @ 2
(2) Tt B /9 & fore FERa B

(b) 79 & T} fanfea o= s/ & faw AEfRa §1

(c) F9 & it Yo faarfed |

(d) Sudad ferst & @ 18 off fse Tt fAewren s aearg |

54. W,X, Y T4 Z IR ICHa® gal + SRR 9 G141 & [T Igad SWiigaR ST oA &1 Al
foran 31 f5=t oft Sefiear &1 9@ Sifte gal gRT TeR far 9T g SFICaR & TU9 &7 3MYR
21 A, B, C Td D IR UTdff Iwfigar 34 gal & TN fedpe A & forg ema
A IHfigarR W &I Wierd g fhg z 1 T8 5 B SH{IGaR Y &I Wier g fdhg X &1 781 5
CIHGaR W TG Y &l WiH g D IrfigarR W Td X &I Wial g
W4 B- SWICaR & W Td Z A qie forar, ¢ IFfigar &1 X U9 z A wie fbar, 3 A Ifigar x
P! Wierd o1 fhg v & 81 uT: <t fewpe fHa fireh
(@A (b) B (©C (d) D
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Directions for the following 6 (Six) items :
Read the following two passages and answer the items that follow each passage Your answers to these items
should be based on the passages only.
Passage-1

The poor especially in market exbomier, need the surength that collectivities offer for creating more
economic, social and political space for themselves; for enhancing their socio-economic well-bcing and voice, and as
a protection against free market individualism. It has been argued that a group approach to farming, especially in the
form of bottom up Agricultural production collectivities, offors substantial scope for poverty alleviation and
empowering the poor as well as enhancing Agricultural productivity. Tu realise this potential, however, the groups
would need to be voluntary in nature small in size, participative in decision making and Equitable in work sharing and
benelit distribution. There are many notable examples of such collectivities to be found in varied contexts, such as in
the transition economies. All of them bear witness to the possibility of successful cooperation under given conditions.
And although the gender impact of the family cooperatives in tho transition economies are uncertain, the Indian
examples of women-only groups farming offer considerable potential for buefiting Women.

55.Agricultural collectivities such as group based farming can provide the rural poor

1. empowerment. 2. increased agricultural productivity.

3. safeguard against exploitative niarkets. 4. surplus production of agricultural commodities.
Select the correct answer using the codes given below :

(@1,2,3and4 (b) 1, 2 and 3 only (c) 2and 4 only d) 1, 3and 4 only

56. What does the author imply by ""gender impact™ ?
(@) Women are doubtful participants in cooperatives  (b) Family cooperatives may not include women.
(c) Wornen benefiting from group farming (d) Women's role in transition 'economies is highly restrictive.

57. Consider the following assumptions :

1. Itis imperative for transition. economies to have agricultural collectivities,

2. Agricultural productivity can be increased by group approach to farming.

With reference to the above passage, which of these assumptions is/are valid ?

(@) I only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

Passage-2

In a typical Western liberal context, deepening of democracy invariably leads to consolidation of liberal
values'. In the Indian context, democratization is translated into greater involvement of people not as 'individuals'
which is a staple to liberal discourse, but as communities or groups. Individuals aro getting involved in the public
sphere not as 'atomized individuals but as members of primordial communities drawn on religious or caste identity
Community-identity seems to be the governing force. It is not therefore surprising that the so-called peripheral
groups continue to maintain their identities with reference to the social groups (caste, religion or sect) to which
they belong while getting involved in the political processes despite the fact that their political goals remain more
or less identical. By helping to articulate the political voice of the marginalized, democracy in India has led to ‘a
loosening of social strictures and empowered the peripherals to be confident of their ability to improve the socio-
economic conditions in which they are placed. This is a significant political process that had led to a silent
revolution through a meaningful transfer of power from the upper caste elites to various subaltern groups within
the democratic framework of public governance.
58.According to the passage, what does "*deepening of democracy' mean in the Western context ?
(a) Consolidation of group and class identities.
(b) Democratization translated as greater involvement of people.
(c) Democratization as greater involvement of "atomized individuals in the public sphere,
(d) None of the statements (a), (b) and (c) given above is correct in this context.

59. Greater democratization in India has not necessarily led to

(a) the dilution of caste and communal idontities in the public sphere.

(b) irrelevance of community identity es a governing force in Indian politics.
(c) marginalization of elite groups in society

(d) relative unimportance of hereditary identities over class identities.

60. What is the silent revolution that has occurred in the Indian democratic process?
(@) Irrelevance of caste and class hierarchies in political processes.

(b) Loosening of social strictures in voting behaviour and patterns.

(c) Social change through transfer of power from upper caste elites to subaltern groups.
(d) All the statements (a), (b) and (c) given above are correct in this context.
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frafafRad 6 (@) yyin & fore fAd:
fafaRad 3 uR=del &) ufet 3R ST IWid TS URwG & MYR WR fou T uyiat & I AT | 39 usia
P 3HUd IR Had Uk IR gl TR 81 a1l
e -1

e B, THR IR rfcqaRTeT H, I &Hdl B ATaRISHT il 5, R TgH, 3% ArHTors
WW@?M&@%%W@%WHW%WW%WW@W%Wﬁ,&rq%rﬁflq&m
3M1fe, AT SR IS Sa¥R Yiold B & 1ol UM &xd © | I8 do URqd [l 41 § b HiY &7 Tig
U, faRiva: HeTH Py I T & FU H, ﬁmq@%wawuﬁ%mawﬁﬁr%
TRITGIHRUT & HETIY! AR UG Bl § | UMY, T JRITGAT B! AIHR B 1, AT SN b TG BT UHfa
Wi®- HR Bier, Fofem & Tgufitdr qur Sri-sfee 3R ay-SfadRor § o Iragaedl 8 | fafay i & o
WMﬁwawﬁﬁﬁwﬁ%Wmmw%lﬁmﬁ, fAfa oRiRufaal &, Iwa Jguifiar &t
TTaTS & T T8 HRd ¢ | 3R T Ah AT sricqawrsii H uRaR-Tgadiarstt &1 far-uud ifAfyd g, fig
TR A TR THE: HY & HRATT IaTex01 Afarst o arifad B & uaie Jeqra-rsil & aard g1

55. PV TR, S % Tg smenfea oY, anftor A &t

1. TRIGADHRN TG R FHhd ¢ | 2. Iefq HIY IATGHAT TeH IR THhd 5

3. TNYUMRS TOIRI & ¥g WAV UGH IR IBA & | 4. PV ag3f BT ek IATe UG B I g |

= foE T Be &1 v FR TE W g

(@) 1,2, 33MR4 (b)Pad 1,2 3R 3 (c) Had 2 3R 4 (d) a1, 3 3R 4

56. fRRTUHTT T A@P HTAATATUL § 2

(a) AR TgpIRATS § TagRUuS GeHIM 1 (b) URGR Feaiikdiah # Afgeny aftiferd 7el it 8 g 81

(c) T8 P F ATy |t Afgamd| (d) TepHuT Sifegarratt & Afgarstt ot yfie siid ufaeeTd 71
57. fFRgfafaa uromel wR faar Fifse

1. Gopyur Srfeqawyraft # BN Tyl &1 11 Sifard 71

2. $N & Ul Tg SUNTH I HY IATGHdT B! FGM/T o ThelT ¢ |

Iy uie & deH A 37 uRumei A A PH-Ar A AU 8/e 2

(a) Pad 1 (b) I 2 (€)1 3R 2 gt @A, T2

=g -2

fafkry ufth SaRard! Gey &, Tidda &1 SR TeRT §IFT SaRAT! Hedl & THG B 3R o A1l § | YR
Sy 8, AT ATl &1 ek YRTGR! B aRord giaT 8, fores T afaad! & wu & 751, &l o IGRard! fKiad &1 g&1
v 2, sfep uerdl o1 aqg! & & A T g1a & | Arduiie & 1 sufdd safde safaadl & v 7 78T, sfews gl a7 Siifa
DI UGIH & YR R I 3T TSI & TR - U & A I8 8 | eI IgaH Us Faad aa gial udid giat
8 | 31d: T8 Nydoah 718l 7- b TuT Hia ulkefia wg Iomfass ufsransit & =nfira gl Ivg o=t ugaml &' arTfors
gl (S, of a1 v §- 5 3 Yo €, SIS R 1Y I SI) 34 8- Aty 3 Gt & Iomifaes ded g1 ga a9
T8d g1 YRd H Teavda § IUTITT AT b1 Aoifdes STt ol YR B H W] HR- Ao (el &l fRIfdd s ot
3R O o & SR Suicia ol ) g i Ua @t & 3 o o arfore-enfifes gumai # § 3= guRA @1 3ot awaar
& IR T MY B | U8 Ueh HewqUl IAeTae Uik § i, Ah-JH & AhdiEd g & 3aR , IR Sifd & e 3
fafir SuTfSa Il & Wnic it -gRaiaR vl =l & HITH ¥ TP b hitd BT HRUT T f|
58. Ufglt He # dwd & 3R Te¥ 11 | T 3R 72
(a) THE U4 71 UG &l JHH |
(b) AT T gETR HITTGRT H GRUT AidbaAIHR |
(c) TSI & B safaaal o) ¥ U gk UrfieR) & =0 & Abaaia |
(d) 39 g & ST HUAT (a), (b) 3R (c) H A BIs it ISt T 81
59. HIRA H geTR AIpaA®eul fradT Sifard 0 A SRUT g 918 2
(a) TTdSI-e & § Sfa Td eI UgdH| &l He i T |
(b) YR eI & FEF® 90 & =0 H TR UgdT o1 3ETd g |
() AT H ST TGl &1 Iuicig g |
(d) 1 UAM! & SHUR GRINT UgaH| &) ATue Hgcdg-dl gl |

60. I8 P Hifa FT § W HRAHT Apaife uferar & uafed g3 82
(a)ﬂa:ﬂﬁwmsﬁﬁwﬁrqaaﬁ@trﬁﬁa%W|

(b) AdG HdER T4 U=yl H T bl &1 giar gl

() JTR STl TS T IUIST Tl & RIH-GLATRT & ATHH Y HrH1forb TR |
(d) 39 Yoo & Tt Sudad o147 (a), (b) 3R (c) TS B
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61. The formation of ozone hole in the Antarctic region has been a cause of concern. What could be
the reason for the formation of this hole?

(a) Presence of prominent Tropospheric turbulence; and inflow of chlorofluorocarbons.

(b) Presence of prominent polar front and stratospheric clouds; and inflow of chlorofluorocarbons.

(c) Absence of polar front and stratospheric clouds; and inflow of methane and chlorofluorocarbons.

(d) Increased temperature at polar region due to global warming.

62. Which one of the following is not part of five global commons ?
(a) The High Seas (b) The Climate System
(c) The Deep Ocean floor (d) The Arctic region

63. Consider the following statements regarding the Recusal by Judge.

1. Recusal usually takes place when a judge has a conflict of interest or has a prior association with the parties
in the case.

2. There are no written rules on the recusal of judges from hearing cases listed before them in constitutional
courts.

Which of the statement(s) given above is/are correct?

(@) 1 only (b) 2 only (c) Both1and 2 (d) Neither 1 nor 2

64. It is believed that our globe is warming progressively. This global warming will eventually result
in

(a) melting of polar ice (b) uniformity of climate at equator and poles

(c) increase in availability of useable land (d) fall in the sea level

65. Consider the following statements:
1. Viruses are the only group of microorganisms that cannot replicate outside of a host cell.
Viruses are known to infect nearly every type of organism on Earth
Which of the statement(s) given above is/are correct?
(@) 1 only (b) 2 only (c) Both1and 2 (d) Neither 1 nor 2

66. Telescopes are placed in space to view distant galaxies primarily to

(@) get closer to the observed objects

(b) avoid the absorption of light or other radiations in the atmosphere of the earth
(c) avoid light pollution from the earth’s populated areas

(d) avoid steering the telescope against the earth’s motion

67. Which of the following is a function of SEBI?
(a) Regulation of money market (b) Regulation of public debt
(c) Regulation of commodity market (d) Regulation of primary and secondary security market

68. Match List I with List Il and Choose the correct option from the options given below:

List I: List 11
a) Treasury bills i. RBI
b) Commercial papers ii. IMF
) Repo rate iii. Government
d) SDRs iv. Private companies
(@) a- iv, b-iii, c-ii, d-I (b) a)-iii, b-iv, c-ii, d-i
(c) a-iii, b-iv, c-i, d-ii (d) a-iv, b-iii, c-i, d)-ii
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61. 3icThfe® &7 A 3w fog &1 fAwfur foiar &1 SR 8T 81 59 5% & T &1 SR 3471 §) JohdT 82
(a) TR oy &1 IURUM; 3R FRITARIBIET DI TIAR SHTHG

(b) ITA 3R FHATHSHIT B ) JUfRUFT 3R FARIFARIBTET Pt 3HTHS |

(c) YdTg ITarT 3R FHATIHSHT el & SUfRUf; 3R M 3R FaRIUARIGE &1 3HS |

(d) TASd T & BRI YT &F | a9HH | gis |

62. Fraferfad & A #19 wIga wiad -9 &1 o 81 87
(a) el 99 (b) ST ATg JuITeit (c) TTERT HETIRIY ael (d) HRH &=

63. fopddt =raTdhi=r gRT &9 A g & Jau § fRufiafad 3= wR faar #9:

1. 979 ¥ g1 3MHdR W dd il 7, 9d fobt arneier & 91 {3l &7 <1 gidl © a1 919d § UThRI &
Y 3P Jd Wee gl 5 |

2. YT raTe § 30 GH YdIag HTH! & JAaTs 3 ArTei=il & Sid ¥ §e- IR SIS farad a4
I

SRIFd A A PIH-T HYT TG 8/ 82

(a) Pad 1 (b) I 2 (c) 1 3R 2 gAY @) T 13RI 2
64. Tg HTAT S1dT 8 o gWRT fay evmarR 1 8 ve1 81 ug siaa: ufvura gm:

(a) Yot 9 &1 faer (b) YT AT 3R ¢} TR T &1 TH=d]

(c) STTRT Y Pt Iucsear H g (d) T TR H B

65. FFraferfad ®wy= w faaR &3

1. ARRY YEASa! &1 UHHE THE § S U ASTaT HIFRABT & a8 Ga BT G el R qabdl |

2. IR Gt IR U &R UHR & Sital Bl Yehd B & el o ol §

SWRIF # A SH-TT HFYT TG 8/ 82

(2) Pad 1 (b) I 2 (c) 1 3R 2 gt )T LRGN 2

66. T U A g ATHTIAATIS BI 3@ & forg Rl &t siafver o wurfia fosar simar @
(a) STAH B ol a! I3 DI BT I @

(b) Gt o ITATaRUr § YT AT 31 fafrun o Sra=nyur ¥ ae

(c) Gt o 3MTaTS aret &l o UehTRI GGyl J sra

(d) gt 1 Tfd & favg g & HdTe d 92

67. Fafafea A A P Aq F1HRE 82
(a) J&T SR &1 fafam= (b) TTdSE F01 o1 fafaa=
(c) HHITSS TR H1 faf e (d) TTufiIes 3R fgdiaes ufayfa aToiR &1 fafema

68. At | & AT A 11 BT fAa= B 3R - e e fawedl & 9 w8t fiwer g4
G CLEE Tt 1

(a) ToRI fod i. HRa Rord de

OEINISERE] ii. SRS g1 Iy

ORI iii. RBR

(d) THSI3R iv. fi dufai

(a) a- iv, b-iii, c-ii, d-1 ~ (b) a -iii, b-iv, c-ii, d-I (c) a-iii, b-iv, c-i, d-ii ~ (d) a-iv, b-iii, c-i, d) -ii
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69. Which of the following countries border the Mediterranean Sea?

1. Jordan 2. Lebanon 3. Syria 4. Egypt 5. Cyprus
Select the correct option.

(@) 2,3 and 5 only (b) 2, 3,4 and 5 only

(©)1,2,3and 5only (d) All of the above

70. Which one of the following are the arguments for women’s equality?

1, Inferiority of women to men is socially constructed and has no legal justification

2. non-application of the principles of liberty and equality to the conditions of women is paradoxical
3. Women are naturally inferior to men

4. Women'’s inequality survived because it was justifiable

Select the correct answer using the code given below:

(@) 1,2 and 3 only (b) 1, 2,3 and 4 only (c)1and 2 only (d) 3 and 4 only
71. El Nillo Southern Oscillation (ENSO) is an

(a) Ocean process (b) Atmospheric process

(c) Ocean-atmospheric process (d) Ocean-atmosphere-land process

72. To study which one of the following was a spacecraft launched that would be farthest from the Sun
and would run exclusively on solar power?

(@) Jupiter's Trojan asteroids (b) Saturn's rings and moons

(c) Mars' atmosphere (d) Kuiper Belt and Oort Cloud

73. Match List-1 with List-11 and select the correct answer using the code given below the Lists:
List-1 List-11

(River) (Tributary)
A. Brahmaputra 1. Musi
B. Krishna 2. Tawa
C. Narmada 3. Bhavani
D. Cauvery 4. Dikhow
Code:
(@4-2-1-3 (b) 4-1-2-3 (c)3-2-1-4 (d)3-1-2-4
74. Which one of the following is/are not geological environmental hazard?
1. Landslide 2. Drought 3. Earthquake 4. Volcanic Activity
Select the correct answer using the code given below:
(@ 2,3and4only (b) 1, 3 and 4 only (c) 2 only (d) All of the above

75. Why do trees shed their leaves in the winter season?
(a) To conserve heat (b) To rest before the summer growth
(c) To conserve water (d) To escape being eaten by animals

76. Consider the following factors/agents in the context of Weathering:

1. Water

2. Ice

3. Animals and Plants

4. Changes in temperature

5. Acids and salts

Which of the above factors/agents play role in the phenomenon of weathering?
(@ 1, 2and 4 only (b) 1, 3, 4 and 5 only

(©)1,2,3and 4 only (d) All of the above

24 | 36



69. FraferfEa o A F9-11 =1 YA IR $1 Hur R 82

1. 9lfe 2. A 3. it 4. forg 5. YUY
el fApeu dTIua B
(a) FAA2, 3 3R 5 (b) PaA 2, 3, 4 3R 5 (c) Pad 1, 2,3 3R 5 (d) IR gaft

70. wfgensit & gurar & fiw Faferfaa § @ S9-arad g2
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1 3T T Fis T IUAT HXP TE S gA:

(a) Fad 1, 2 3R 3 (b) 1,2, 334 (c) Had 1 3R 2 (d) HId 3 3R 4
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(2) TEWIA & SIS e (b) T & T 3R T
(c) T &1 agHSd (d) PTIEW T 3R SHe 7Y
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SWRIH PRSI H A PIH-HT RS / Toie 3rqera § YfireT v g7

(a) Pad 1, 2 3R 4 (b) AT 1, 3, 4 3R 5 (c)Pad 1, 2, 3 3R 4 (d) SR Tt
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77. Which one among the following countries has announced a plan that sets a goal of having fewer
than 5% of its populace smoking by 2025?

(a) England

(b) Germany

(c) New Zealand
(d) Russia

78. A welfare state envisages.

(a) A fully egalitarian society

(b) State ownership of the means of production

(c) Abolition of private property

(d) A system which combines right to personal property with state intervention for social security and
providing help to the needy and indigent

79. Consider the following pairs:
Region/ City ~ Country

1. Tigray Moracco
2. Darfur Syria
3.Kurdistan Yeman

Which of the above pair(s) is/are correctly matched?

(@ 1and 2 only
(b) 2 and 3 only
(c) 1and 3 only
(d) None of the above

80. A crop which can be grown in diverse soil region need an explicit climatological summer and winter
with temperatures ranging from no more than 35 or 40 degree Celsius in summer to about —15 or
—20 degree Celsius in winter. One of the growing region also has been declared as important site
by FAO. This crop is:

(a) Wheat
(b) Jute

(c) Saffron
(d) Pineapple
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77. Frafafea 3= # @ 59 ve A ve g aifta ot @ o g asa Fuffa fear man g &
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SReRa¥e! IR FeHT & Tgradr UeH aRdl |

79. Frufafea gl W faR &%
PETRIEN 2]
1. fo@ ARG
2. GRPR i
3. PlaH B
SR A | i Ot 1St T} 8/ A Tl 82
(a) Pad 1 3R 2
(b) Pad 2 3R 3
(c) Had 1 3R 3

(d) SRIFd § T s Tal

80. T wHd ot fafae a1 &=t A I o gl 8, gt i ik Ifdal &t ver Wy saarg ot
SIS T glcil 8 1 T8l Al § araHT 35 4T 40 F&30 AfRTaw A oiftre 181 gtar 8 ik aféat
H @Y -15 f&t Sf R giar 81 59 SUTe® &F &I FAO §RT Hgw@yul &d & w4 # ot
it fvar T 81 98 waa 8:

(a) TE

(b) ¥Ic

(C) P
(d) SFTT
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81. The missing number in the box

3 07 52

5 11 126

? 09 107
(@6 (b) 18 (c) 26 (d) 36
Directions:

The following two (2) items are based on the given pie-chart which shows the annual agricultural
yield of a certain place:

Sugarcane
80

82. The yield of rice is how much percent more than that of sugracane?
(a) 40% (b) 50% (c) 60% (d) 75%

83. If the yield of rice and wheat is 9000 tons, then the yield of excess product of others in comparison

with sugarcane is
(a) 1000 tons (b) 2000 tons (c) 3000 tons (d) 4000 tons

Directions:
The following two (2) items are based on the given histogram that shows the percentage of villages

in the States which are not electrified:

Percentage

A B C D E F
States
84. Which of the following states has twice the percentage of villages electrified in comparison to State D?

@ A (b) C (©E (d)F

85. How many States have at least 50% electrified villages?
(@)1 (b) 2 (c)3 (d)>5

86. Consider the two positions of the dice as shown below:

e
= [

When 1 is at the bottom, what number will be on the top?
@3 (b) 5 (c)6 (d) Cannot say

Directions for the following 2 (two) items.

Each of the following two items consists of four statements. Of these four statements, two cannot both be true, but both
can be false. Study the statements carefully and identify the two that satisfy the above condition. Select the correct
answer using the codes
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81. e 3w 7T afew ¥ qua w=n Hi-1 32

3 7 52

5 11 126

2 9 107

(@) 6 (b) 18 (c) 26 (d) 36

o
frafafad & (2) gyt fou TU o Wi W snumid €, S forsit SHTE i ATe1 S SUS =i

5

82. ITdd 1 IUS T 1 IUS ¥ fova yferwra 3ifire g2
(a) 40% (b) 50% (c) 60% (d) 75%

83. afe TTae 3R T BI IU 9000 & B, A A B a1 | 3= 1 1fIF Iuet fhast 82
(a) 1000 T (b) 2000 T () 3000 T (d) 4000 T

e
frafeafRaa < (2) vz fee e smaafs R smuria & it wreal # 34 7Tl @t ufa=radr cifar g,
o faerit =81 8

N s
84. Fraferfaa vt & & fraw D Iroa o1 o | faereitgea iial &1 ufesra Qn 82
(@) A (b)C () E (d)F
85. fara=t Isal ® HH-/-FH 50% faereltgea fa &2
(a) 1 (b) 2 )3 (d)5
86. U1 @1 -4 &t 715 @Y fRuforat W R Fifvre:

W9 EURAd W 1 §HM, df HURL a8 W Hi-Ht J=m ghil?
(a3 (b) 5 (c)6 (d) P8 TeT Fhd
fFrafaf@d 2 @) wyi=i ¥ e A=

frafeiad & usiel # vl & R IR FYT R | STIR YT H A I WA E, S Teb A1y -1 Tt =7t
B gohq: fobeg S &1 TTAd B Ihd § | HYAT BT SATYdD 3eqd B 3R I & HYA! Bl Ugang o
Suad T &1 TgE FRd & | TS HYH-TG@T & U1 QT T He| &I Tgrial I g1 S g
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87. Examine the following statements :

1. All animals are carnivorous. 2. Some animals are not carnivorous.

3. Animals are not carnivorous. 4. Some animals are carnivorous.
Codes :

(@2land3 (b) 1and 2 (c)2and 3 (d)3and 4

88. Examine the following statements :

1. All trains are run by diesel engine. 2. Some trains are run by diesel engine.

3. No train is run by diesel engine 4. Some trains are not run by diesel engine.
Codes :

(@ land2 (b) 2and 3 (c)land3 (dland4

89. Consider the four age pyramids given below namely A, B, C and D representing four different

countries.

Percent in age class —»

Which one of them indicates the declining population
(@) A (b)B (cC (d)D

Are

90. The following figure has four curves namely A, B, C and D. Study the figure and answer the item
that follows.

.-: Be

E 4l

g Ak

E o

E. 1L D

e

Al 300 400 S00 8530 1000 1300 148 1500 1800 D00
Year

Which curve indicates the exponential growth ?
(@A (b)B (©C (d)D

Directions for the following 2 (Two) items :

The following pie charts show the break up of disease categories recorded in the patients from two towns,
Town A and Town B. Pie charts plot the disease categories as percentage of the total number of patients.
Based on these, answer the two items that follow the charts.

Distribution of discases in Town ~ A Distribution of discases in Town-B

A o

91. Which of the two towns has a higher number of persons with Diabetes ?
(@ Town A (b) Town B
(c) Same in Town A and Tuwd B (d) No inference can be drawn
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g7. fFafaRaa &yl &t udien Fifome:

1. 9l U AR BId § | 2. S U HIBRY Tl 8Id |

3. UR] HTERI 61 81 | 4. P UYANRRIEA S |

Pc:

(a) 1 3R 3 (b) 1 3R 2 (€) 2 3R 3 (d) 3 3R 4
88. fFrraferfaa wy=l @t wsien Hifene:

1. g Yeamfsar e o T I § | 2. B XSl SIoTd 3o I Iaa @ |

3. Bz W Y S) Siod go T =78 =raay | 4. TS XANSTT SroTdl o & g der |

Pc:

(a) 1 3R 2 (b) 2 3R 3 (€)1 3R 3 (d) 1 3R 4

89. Y faW 7T, AAMWa: A, B, C Td D, TR Y fRfArs srem-sre aR A= &l e #vd € 1S9 R

R WACATA

Percent in age class —s

0 9 BIF-91 U, gad] S0 &1 R Harg 2
@) A (b) B () C (d) D

L ¥ L CR—

90. TR R e o & I A B, CTG D IR ah U @ | o T Siemat % 39 - faw 71w wayimn
HT I G |

Population (billions)
& = M O B B ®

S ————— -
A 200 400 S00 830 mmmm1mmm

Year

37 q SIH-IT a9 IWRAIP! gfg B ST Hear g2

(@A (b)B (©C (d)D

Frafafed 2 @) wyi=n & foe A

e fou U g9 T (urE 9r) TER | 9UT ER B, & WeRl # AR § e 9 9l Y S-S Sufan | |
I e & I a0 1 A B Ho1 T& & Ufa=d & U H 3iford foban T g |1 37 a6 STUR |, 34
W%UWWW@UW%WWl

Distribution of discases in Town - A Distribution of discases in Town - B

\,,\ :

{Wlmuw o
MM i“mf

91. g R1E™I B 3 5 3reR o srafadter & IRa afeadl &) "= sriemed st 82
(a) REY A (b) REX B
(c) T A 3R UER B & T GHH (d) DI ST ! FepTa o Tehdl

\
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92. What can we say about persons with more than one disease from these graphs ?
(@) There are likely to be persons with more than one disease in Town A.

(b) There are likely to be persons with more than one disease in Town B.

(c) There are likely to be persons with more than one disease in both Towns A and B.
(d) No inference can be drawn

93. Consider the following Velocity Time graph. It shows two trains starting simultaneously on parallel
tracks.

Iy

Velocity

With reference to the above graph, which one of the following statements is not correct?
(a) Train B has an initial acceleration greater than that of Train A.

(b) Train B is faster than Train A at all times.

(c) Both trains have the same velocity at time tg.

(d) Both trains travel the same distance in time tg units.

Directions for the following 6 (six) items :
Read each of the following to passages and answer the items that follow Your answers to these items should
be based on the passages only.

Passage-1

Ecosystems provide people with a variety of goods and services; food, clean water, clean air flood
control, soil stabilization pollination, climate regulation, spiritual fulfilment and aesthetic enjoyment, to
name just a few. Most of these benefits either are irreplaceable or the technology necessary to replace them
is prohibitively expensive. For example, potable fresh water can be provided by desalinating sea-water, but
only at great cost.

The rapidly expanding human population has greatly modified the Earth's ecosystems to meet their
increased requirements of some of the goods and services, particularly food, fresh water, timber, fibre and
fuel. These modifications have contributed substantially to human well being and economic development.
The benefits have not been equally distributed. Some people have actually been harmed by these changes.
Moreover, short term increases in some ecosystem goods and services have come at the cost of the long term
degradation of others. For example, efforts to increase the production of food and fibre have decreased the
ability of some ecosystems to provide clean water, regulate flooding and support biodiversity.

94. With reference to the passage consider the following statements.
Expanding human population has an adverse effect on :

1. Spiritual fulfilment 2. Aesthetic enjoyment 3. Potable fresh water

4. Production of food and fibre 5. Biodiversity

Which of the statements given above are correct?

(@) 1,2and 3 only (b) 2, 4 and 5 only (c) 3and 5 only () 1,2,3,4and5

95. The passage mentions that some people have actually been harmed by these changes®. What does
it imply?

1. The rapid expansion of population has adversely aflected some people.

2. Sufficient efforts have not been made to increase the production of food and fibre.

3. In the short term some people may be harmed, but in the long term everyone will benefit from
modifications in the Earth's ecosystems.

Which of the statements given above is/are correct ?

(@ 1only (b) 2 (c)land 3 d) None of the statements given above
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92. 3T ARGl P YR UR §H I ATRIYI & I A T $g Hhd & fors T I S I E 2
(2) TER A H T T 31f¥ A7 aTet uferTal & g Bt U B

(b) TEX B H T  31feh I} dTel ikl & g 1 GG 2|

(c) A 3R B 3 2e’l H U T 31f¥es I aTet safdadl & i1 bt HIET B

(d) PIS STAM g1 FAabTer o FaveTl |

93. fufeRad 3w - avy e W faR Fifse, ag smaa &) Ot Yermfeal @1 gwifar 8 =i
AR Tl R U & GHT U T IR- Hedl 2

SUYH 3TAE & AW A, ﬁqﬁr@aﬁﬁﬁqu$u=rw=l€r%9
(2) YTATTST B BT URMVH ORI TS A & URE ORI Bt 30 31w 3|
(b) YIS B T JEHTET A Y e 3 Aot Srg <@ 8 |

(c) T tg TR G XerTITSl T ovT U

(d) to THA-SPTS B Gl XASal ThaHH gl ad Pt 6|
Frafafad s @) vyt & fore fAd=:

fafefad @ el § 9 Ude &1 ufey SR I IURId fat 7T uyie & IR e 31

uamﬁ%a{m%wéﬂaa@mﬁwﬁ&nméﬁm%ﬁ |
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Tt oI BT faaaufienzor R O SAaul oid IUds T HRIAT off qebd &, fog U8 Sffeids ANTd IR g1 gHa @ |

ol T Tt A SRedT - aegsit SR Farsil &1, faRivedmR @i, S/aqur oid, SHRC! dde!, X201 3R 384
DI, 3O TG g3 SMaaHdIst &1 gfd & fog geat & uifRufaed-d & srfis Jad SIam g | 7 STURadH!
AT & ST AR e e o 1RyR dre fean 8 |1 3 ar 9| wu § faafka 78t gu g, 39 uRad= @
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&3 P! e oI UaH A, 91 R e auT Sia-fafaed & $TUR UgH & &1 &HdT § g g 6|

94. @Y & JeH A, fuferfaa #y=i w faar sifvm|
St HId ST T el THTd TSl &:
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96. With reference to the passage consider the following statements :

1. It is imperative to modify the Earth's ecosystems for the well being of mankind.

2. Technology can never replace all the goods and services provided by ecosystems.

Which of the statements given above is/are correct?

(@) 1 only (b) 2 only (c) Both1and 2 (d) Neither 1 nor 2

Passage-2

A moral act must be our own art, must spring from our own will. If we act mechanically, there is no
moral content in our act. Such action would be moral, if we think it proper to act like a machine and do so.
For, in doing so, we use our discrimination. We should bear in mind the distinction between acting
mechanically and acting intentionally. It may be moral of a king to pardon a culprit. But the messenger
carrying out the order of pardon plays only a mechanical part in! the king's moral act. But if the messenger
were to carry out the king's order considering it to be his duty, his action would be a moral one. How can a
man understand morality who does not use his own intelhgence and power of thought, but lets himself be
swept along like a log of wood by a current ? Sometimes a man defies convention and acts on his own with
a view to absolute good.

97. Which of the following staterntents best describe/describes the thought of the writer ?

1. A moral act calls for using our discretion.

2. Man should react to a situation immediately

3. Man must do his duty.

4. Man should be able to defy convention in order to be moral.

Select the correct answer from the codes viven below :

(@) 1 only (b) 1and 3 (c)2and 3 (dland4

98. Which of the following Lalements is the nearest definition of moral action, according to the writer?
(@) It is a mechanical action based on official orders from superiors.

(b) It is an actions based on our sense of discretion.

(c) Itis a clever action based on the clarity of purpose.

(d) It is a religious action based on understanding.

99. The passage contains a statement "'lets himself be swept a long like a log of wood by a current."
Among the following statements, which is are nearest in meaning to this?

1. A person does not use his own reason.

2. He is susceptible to influence/pressure.

3. He cannot withstand difficulties/ challenges.

4. He is like a log of wood

Select the correct answer using the codes given below:

(@) 1only (b) 1and 2 (c)2and 3 (dland 4

100. Consider the following figures:

2 6 3 | 7
80 24 120 | 36
What is the missing number ?
@7 (b) 8 (©9 (d) 10
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